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QUIZ

1.	� The first reporter (Jim Sciutto) saw the 
attack ...

	 a) in real-time as it happened.
	 b) later with colleagues.
	 c) on CNN Breaking News. 

2.	� Cristina Alesci mentions … companies 
that put out statements about the 
event.

	 a) two
	 b) three
	 c) four

3.	� Which sentence corresponds to what she says?
	 a) The companies were not informed fast enough of the problem.
	 b) The New Zealand police were shown to be incompetent.
	 c) The police had to inform companies about the situation.

4.	� She says that those who want to show the videos ...
	 a) have better algorithms than the companies.
	 b) use advanced Artificial Intelligence.
	 c) make some changes to video images.

5.	 Jim Sciutto does not understand why the current technology ...
	 a) is so outdated.
	 b) cannot do more.
	 c) has limited availability.

6.	Which sentence is closest to Cristina Alesci’s conclusion?
	 a) Nothing can be done about the situation without more legislation.
	 b) The companies’ business aims conflict with their security policies.
	 c) Anyone diffusing violent real-time images should be prosecuted.

Answers : 1. b - 2. b - 3. c - 4. c - 5. b - 6. b.
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